
CHEMISTRY

BOOKS - MS CHOUHAN

HYDROCARBONS (ALKENES)

Level 1

1. (R)-3-bromocyclopentene (shown below) reacts with  to form

two products, Y and Z, Y is not optically active (does not rotate plane-

polarized light). What is the structure of Y? 

Br2 /CCl4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_WKoNyaA0KszT


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_WKoNyaA0KszT


2.  reactant (A)

can be :

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_UOJr8hRQT5WJ


3.  major

product of the reaction is :

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_2xXR7d9G8e0U


Answer: C

Watch Video Solution

4.  


Which of the following products cannot be obtained in ozonolysis of o-

xylene?

A. 

B. 

C. 

D. 

CHO

∣

CHO

CH3 −

O

∣ ∣

C −

O

∣ ∣

C − H

CH3 −

O

∣ ∣

C −

O

∣ ∣

C − CH3

CH3 −

O

∣ ∣

C −

O

∣ ∣

C − CHO

https://dl.doubtnut.com/l/_2xXR7d9G8e0U
https://dl.doubtnut.com/l/_VcuiDaFIinej


Answer: D

Watch Video Solution

5.  major

product of the reaction is :

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_VcuiDaFIinej
https://dl.doubtnut.com/l/_3l32gkF1MA50


Answer: B

Watch Video Solution

6.  (Kolbe electrolysis method) Product

(A) of the reaction is :

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

CH2 − CO2K

∣

CH2 − CO2K

electrolysis  
−−−−−−−→ (A)

( major )

CH3 − CH3

CH2 = CH2

CH3 − CH = CH2

https://dl.doubtnut.com/l/_3l32gkF1MA50
https://dl.doubtnut.com/l/_he0wjJGawWaS


7.  products (C

) of the reaction is :

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_flBRxNaxAkqa


Answer: C

Watch Video Solution

8. Complete the following reaction

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_flBRxNaxAkqa
https://dl.doubtnut.com/l/_l5zDUsVzBYOp
https://dl.doubtnut.com/l/_mYYILo3NW4AZ


9. The reaction of propene with  will proceed with which of the

following intermediates ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H3O
+

10. Which of the following bromides is the major product of the reaction

shown below, assuming that there are no carbocation rearrangement ? 

https://dl.doubtnut.com/l/_mYYILo3NW4AZ
https://dl.doubtnut.com/l/_8yruvE600hPi


A. 

B. 

C. 

D. 

Answer: D

https://dl.doubtnut.com/l/_8yruvE600hPi


Watch Video Solution

11. Which of the following reactions results in the formation of a pair of

diastereomers ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_8yruvE600hPi
https://dl.doubtnut.com/l/_3oBpi9i9P03U


12. What is a likely product of the reaction shown ? 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_b0CIWDzijJlq


Answer: D

Watch Video Solution

13. Which of the following, when undergoing addition of HBr, will form

ONLY a pair of diastereomers ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_b0CIWDzijJlq
https://dl.doubtnut.com/l/_NjtmoEdMc391


Watch Video Solution

14. How many transition states and intermediates will be formed during

the course of following reaction ? 

A. 3 transition states and 3 intermediates

B. 4 transition states and 3 intermediates

C. 3 transition states and 2 intermediates

D. 5 transition states and 4 intermediates

Answer: B

Watch Video Solution

15. Product of which of the following reactions, is racemic mixture ?

https://dl.doubtnut.com/l/_NjtmoEdMc391
https://dl.doubtnut.com/l/_mqb9lAZsIa2u
https://dl.doubtnut.com/l/_5aOsRZh7g3IL


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_5aOsRZh7g3IL


16. The product(s) of the following reaction can best be described as : 

A. a racemic mixture

B. a single enantiomer

C. a pair of diasteriomers

D. an achiral molecule

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_cUZB9LxUQGl4


17. Taking into account the stability of various carbocations and, as well as

the rules governing mechanisms of carbocation rearrangements, which

reaction is most likely to occur during the given reaction ? 

A. 

B. 

C. 

D. None

Answer: D

Watch Video Solution

18. Consider the following reaction in which the intermediate carbocation

loses H+ to give the final product 

https://dl.doubtnut.com/l/_O38An7KtAqCM
https://dl.doubtnut.com/l/_FS6lU1MuxOLB


 


Which of the following energy profiles best represents the overall

reaction ?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_FS6lU1MuxOLB


Answer: D

Watch Video Solution

19. Methyl vinyl ether, , reacts with . If

methanol is reacting as water would, and if this reaction follows a typical

mechanism of electrophilic addition, what would be the expected product

?

A. 

B. 

C. 

D. 

H2C = CH– OCH3 Br2 /CH3OH

https://dl.doubtnut.com/l/_FS6lU1MuxOLB
https://dl.doubtnut.com/l/_6cBEkw4TDRNf


Answer: B

Watch Video Solution

20. 2, 4-hexadiyne (C6H6) is allowed to react with Li in NH3(liq). The

product obtained is treated with 1 equivalent of  in . Which of the

following constitutional isomers are possible products ? 

A. I and II

B. II and III

C. I and V

D. I and III

Answer: D

Watch Video Solution

Cl2 Cl4

https://dl.doubtnut.com/l/_6cBEkw4TDRNf
https://dl.doubtnut.com/l/_dE12J6Ztqkiv
https://dl.doubtnut.com/l/_ToXvrSOyxlZY


21. Which of the following is the best stereochemical representation

when reaction between 1-methylcyclohexene and NBS react in aqueous

dimethyl sulfoxide ?

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ToXvrSOyxlZY
https://dl.doubtnut.com/l/_1XxVD9icZENW


22. Which of the following is among the major products of the reaction of

(E)-3-methyl-2-pentene with  in THF followed by the addition of 

?

A. 

B. 

C. 

D. 

Answer: A

BH3

H2O2 /HO−

https://dl.doubtnut.com/l/_1XxVD9icZENW


Watch Video Solution

23. Compare rate of dehydration of (i), (ii) and (iii) by conc. 


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2SO4

(i) > (iii) > (ii)

(i) > (ii) > (iii)

(ii) > (i) > (iii)

(ii) > (iii) > (i)

https://dl.doubtnut.com/l/_1XxVD9icZENW
https://dl.doubtnut.com/l/_6AB2SVe6qF5i


24. How many products will be formed in this reaction ? 

A. 10

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

25.  


Product (A) of the reaction is:

https://dl.doubtnut.com/l/_osNVYmi7Sg8i
https://dl.doubtnut.com/l/_pPufzkdkaWiU


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

26.  (A) , (A) is :

A. 

CH3 −

CH3

∣

C
∣

CH3

H + H2C = CH2
HF

−−→
2.5 ∘C

https://dl.doubtnut.com/l/_pPufzkdkaWiU
https://dl.doubtnut.com/l/_bnmqHF3zFv6J


B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 − CH
∣

CH3

− CH2 − CH = CH2

27. Predict the product (A) of the following reaction 

https://dl.doubtnut.com/l/_bnmqHF3zFv6J
https://dl.doubtnut.com/l/_0TnhudmT6rvP


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_0TnhudmT6rvP


28.  Major-

product (A) is:

A. 

B. 

C. 

D. 

Answer: B

W h Vid S l i

https://dl.doubtnut.com/l/_J0F80EAAlVsf


Watch Video Solution

29. Di-imide  is used to reduce double bond of:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(N2H4)

−C
∣

= O

−C = N

−NO2

−CH = CH −

30.  


End product of the reaction is :

https://dl.doubtnut.com/l/_J0F80EAAlVsf
https://dl.doubtnut.com/l/_4okHliQVe716
https://dl.doubtnut.com/l/_Inw9NEsUc0aY


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Inw9NEsUc0aY
https://dl.doubtnut.com/l/_Nv4hIlP1JNVO


31.  


Product (A) is :

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_Nv4hIlP1JNVO


Answer: C

Watch Video Solution

32.  


Product (A) is :

A. 

B. 

C. 

https://dl.doubtnut.com/l/_Nv4hIlP1JNVO
https://dl.doubtnut.com/l/_9BvfsSdkAlL4


D. 

Answer: B

Watch Video Solution

33.  


Product (X) will be :

A. 

https://dl.doubtnut.com/l/_9BvfsSdkAlL4
https://dl.doubtnut.com/l/_f4LFVq6Adg4M


B. 

C. 

D. 

Answer: A

Watch Video Solution

34.  


Product (C) is :

https://dl.doubtnut.com/l/_f4LFVq6Adg4M
https://dl.doubtnut.com/l/_gLC3NJD80eAx


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ph − C = C − Ph

https://dl.doubtnut.com/l/_gLC3NJD80eAx


35.  

MMPP  Magnesium mono peroxy phthalate. Product (X) is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

→

https://dl.doubtnut.com/l/_O2CoM2DjQtpL


36.  Product

(P) is :

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_7Lc49fj5hWqg


37.  Product

(A) is :

A. 

B. 

C. 

https://dl.doubtnut.com/l/_7Lc49fj5hWqg
https://dl.doubtnut.com/l/_gNlP9aAcBByi


D. 

Answer: B

Watch Video Solution

38.  (no ring

substitution) product (A) is :

A. 

B. 

C. 

D. 

Answer: B

Ph − CH2 − Cl

Ph − CH2 − Br

Ph − CH2 − CCl3

Ph − CH2 − CBrCl2

https://dl.doubtnut.com/l/_gNlP9aAcBByi
https://dl.doubtnut.com/l/_ixXEdda5wYgX


Watch Video Solution

39.  


metachloroperbenzoic acid Product (A) of the above reaction is :

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_ixXEdda5wYgX
https://dl.doubtnut.com/l/_Uhf3ftSRkFCN


Answer: B

Watch Video Solution

40. The major product of the following reaction sequence is : 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_Uhf3ftSRkFCN
https://dl.doubtnut.com/l/_7LbT9IHP1S8z


D. 

Answer: B

Watch Video Solution

41. Which one of the following compounds gives acetone 

as one of the product of its ozonolysis ?

A. 

B. 

C. 

(CH3)2C = O

https://dl.doubtnut.com/l/_7LbT9IHP1S8z
https://dl.doubtnut.com/l/_ZFhAnICp098Z


D. 

Answer: D

Watch Video Solution

42. Addition of HCI to 3,3-dimethyl-1-butene yields two products, one of

which has a rearranged carbon skeleton. Among the following

carbocations, select the possible intermediates in that reaction ? 

A. 1,2

B. 1,3

C. 2,4

D. 2,3

Answer:

https://dl.doubtnut.com/l/_ZFhAnICp098Z
https://dl.doubtnut.com/l/_WlZsNAIs6Pbt


Watch Video Solution

43. Conversion of cyclohexene to cyclohexanol can be conveniently

achieved by :

A. 

B. 

C. hydroboration, oxidation

D. hydroboration hydrolysis

Answer: C

Watch Video Solution

NaOH + H2O

Br2 − H2O

44. Trans-cyclohexane-1,2-diol can be obtained by the reaction of

cyclohexene with:

A. KMnO4

https://dl.doubtnut.com/l/_WlZsNAIs6Pbt
https://dl.doubtnut.com/l/_Dkizq5zhphMS
https://dl.doubtnut.com/l/_lJmyFg9eBkQ3


B. 

C. peroxy formic acid /

D. 

Answer: C

Watch Video Solution

OsO4

H3O
+

SeO2

45. Bromination of (E)-2-butenedioic acid gives

A. (2R, 3S)-2, 3-dibromosuccinic acid

B. (2R, 3R)-2, 3-dibromosuccinic acid

C. a mixture of (2R, 3R) and (2S, 3S)-2, 3-dibromosuccinic acid

D. (2S, 3S)-2, 3-dibromosuccinic acid

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_lJmyFg9eBkQ3
https://dl.doubtnut.com/l/_XfQg13AAGmxl
https://dl.doubtnut.com/l/_G3jaif8NEH6d


46. The major product formed during the reaction of 1-methyl

cyclopentene with  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CO3H

https://dl.doubtnut.com/l/_G3jaif8NEH6d


47. , Product (B) of the

reaction is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH − CO2H

∣∣

CH − CO2H

NaOH
−−−−−→
(two mole)

(A)
electrolysis 
−−−−−−→ (B)

CH3 − CH3

H2C = CH2

H − C ≡ C − H

CH2 = CH − CH = CH2

48. Complete the following reaction

https://dl.doubtnut.com/l/_k7yJaVF2dA9I
https://dl.doubtnut.com/l/_zoMyNzengqRR


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_zoMyNzengqRR
https://dl.doubtnut.com/l/_Jai2FOOMsHdU


49.  Product

(P) is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Jai2FOOMsHdU
https://dl.doubtnut.com/l/_eRvGkUzVAADP


50. What is the major product expected from the following reaction ? 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_eRvGkUzVAADP


Answer: B

Watch Video Solution

51. , Product (A) of the reaction is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 − CH = CH2

Br2 /hv
−−−−−−→
(low  conc.)

(A)

CH3 − CH
∣

Br

− CH2 − Br

H2C = CH − CH2Br

CH3 − C
∣

Br

= CH2

Br − CH2 − CH2 − CH2 − Br

52.  Y is

https://dl.doubtnut.com/l/_eRvGkUzVAADP
https://dl.doubtnut.com/l/_AC2zOszeoLQZ
https://dl.doubtnut.com/l/_7AqddpiFSy1u


A. 

B. 

C. 

D. Cold dil 

Answer: A

Watch Video Solution

O3 /Zn(H2O)

HIO4

CrO3

KmnO4

53.  


Product of the reaction is:

A. 

https://dl.doubtnut.com/l/_7AqddpiFSy1u
https://dl.doubtnut.com/l/_9kfiS5LZgtH7


B. 

C. 

D. 

Answer: B

Watch Video Solution

54. Which compound is a possible product from addition of Br2 to 1-

butene?

https://dl.doubtnut.com/l/_9kfiS5LZgtH7
https://dl.doubtnut.com/l/_9RmMPUUxOocQ


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

55. Addition of  to cis-2-butene would give a product which is:

A. achiral

B. racemic

C. meso

D. optically active

Br2

https://dl.doubtnut.com/l/_9RmMPUUxOocQ
https://dl.doubtnut.com/l/_1zPT5y1msVeG


Answer: B

Watch Video Solution

56. Addition of  to trans-2-butene would give a product which is

A. achiral

B. racemic

C. meso

D. optically active

Answer: C

Watch Video Solution

Br2

57. Addition of  to cyclopentene would give a product which is:

A. achiral

OsO4

https://dl.doubtnut.com/l/_1zPT5y1msVeG
https://dl.doubtnut.com/l/_gnDNnRat4xkK
https://dl.doubtnut.com/l/_szZNsu5aU0GL


B. racemic

C. meso

D. optically active

Answer: C

Watch Video Solution

58. Addition of  followed by  to trans-2-butene would give a

product which is:

A. achiral

B. racemic

C. meso

D. optically active

Answer: B

Watch Video Solution

BH3 H2O2

https://dl.doubtnut.com/l/_szZNsu5aU0GL
https://dl.doubtnut.com/l/_mtxpfw2ONzDN


59. , Reagent A

may be :

A. 

B. 

C. 

D. All are possible

Answer: C

Watch Video Solution

H2O/H +

BH3THF /H2O2 − OH −

Hg(OCOCH3)2. H2O/NaBr. NaOH

60. The major product of the following reaction is : 

CH3 − CH = CH2 + HBr
(C6H5CO ) 2O2peroxide 
−−−−−−−−−−−−−−→

https://dl.doubtnut.com/l/_mtxpfw2ONzDN
https://dl.doubtnut.com/l/_evqjQpMiXA4Y
https://dl.doubtnut.com/l/_mSFSYhbKyBo9


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3 − CH2 − CH2 − Br

CH3CH(Br) − CH3

BrCH2 − CH = CH2

61.  


Identify (B):

A. 

B. 

https://dl.doubtnut.com/l/_mSFSYhbKyBo9
https://dl.doubtnut.com/l/_PVf8N0q6dKLq


C. 

D. 

Answer: B

View Text Solution

62. Which of the following is a major product of the reaction shown

below? 

Watch Video Solution

https://dl.doubtnut.com/l/_PVf8N0q6dKLq
https://dl.doubtnut.com/l/_kqDvkZxKRUoA


63. In methyl alcohol solution, bromine reacts with ethylene (ethene) to

yield  in addition to 1, 2-dibromoethane because

A. the methyl alcohol solvates the bromine

B. the ion formed initially may react with or 

C. this is a free radical reaction

D. the reaction follows Markovnikov's rule

Answer: A

Watch Video Solution

BrCH2, CH2OCH3

Br− CH3OH

64. Which of the following compound was the starting material for the

oxidation shown below? 

https://dl.doubtnut.com/l/_wfbdezwKdkBV
https://dl.doubtnut.com/l/_8GhawhNI9aDr


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

65. Which series of reactions will achieve the following transformation ? 

https://dl.doubtnut.com/l/_8GhawhNI9aDr
https://dl.doubtnut.com/l/_h1BZikbdHu0l


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1 − Cl2 /CCl4   2 − Br2

1 − HBr   2 − Cl2 /CCl4

1 − Cl2 /CCl4   2 − NBS/hv

1 − NBS/hv   2 − Cl2 /CCl4

66. Taking into account the stability of various cycloalkanes and

carbocations, as well as the rules governing mechanisms of carbocation

rearrangements, what is the most likely product of this reaction ? 

https://dl.doubtnut.com/l/_h1BZikbdHu0l
https://dl.doubtnut.com/l/_OP3pN46gbb1S


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_OP3pN46gbb1S


67. A triene is treated with ozone followed by zinc in acetic acid to give

the following three products. What is the structure of the triene ? 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_OcCB6tjjFLr6


68. Which of the following compound would yield trialkylborane shown

below when treated with ? 


A. 2-methylbut-1-ene

B. 2-methylbut-2-ene

C. 3-methylbut-1-ene

D. 3-methylbut-1-yne

Answer: A

Watch Video Solution

BH3 /THF

https://dl.doubtnut.com/l/_OcCB6tjjFLr6
https://dl.doubtnut.com/l/_r3Lzb7JlI77L


69. If the following compound is treated with Pd/C in excess of hydrogen

gas, how many stereoisomers of the product will be obtained ? 

A. 1

B. 2

C. 3

D. 4

https://dl.doubtnut.com/l/_1DI4qto6Wenk


Answer: C

Watch Video Solution

70. Which is the most precise designation of stereochemistry for the

products formed in the electrophilic addition of DBr to 1-

methylcyclohexene ? (  an isotope of hydrogen)

A. 

B. 

C. 

D. Both (a) and (b)

D = 2H,

https://dl.doubtnut.com/l/_1DI4qto6Wenk
https://dl.doubtnut.com/l/_gKiGh25aSE5m


Answer: D

Watch Video Solution

71. Consider the addition of HBr to 3,3-Dimethyl-1-butene shown below.

What is the best mechanistic explanation for the formation of the

observed product ? 

A. Protonation of the alkene followed by a hydride shift and addition

of bromide to the carbocation

B. Double bond shift in the alkene following by the protonation and

addition of bromide to the carbocation

C. Addition of bromide to the alkene followed by a double bond shift

and protonation

https://dl.doubtnut.com/l/_gKiGh25aSE5m
https://dl.doubtnut.com/l/_mqZGkadVEvTg


D. Protonation of the alkene followed by a methyl shift and addition of

bromide to the carbocation

Answer: D

Watch Video Solution

72. Propene  can be converted into 1-propanol by

oxidation. Indicate which sets of reagents amongst the following is ideal

to effect the above conversion ?

A.  (alkaline)

B. Osmium tetroxide 

C.  and alk.

D. 

Answer: C

Watch Video Solution

CH3CH = CH2

KMnO4

(OsO4 /CH2Cl2)

B2H6 H2O2

O3 /Zn

https://dl.doubtnut.com/l/_mqZGkadVEvTg
https://dl.doubtnut.com/l/_q5QjRm82c3h3


73. Which is the most suitable reagent among the following distinguish

compound (3) from the others ? 

(1)  


(2)  


(3)  


(4)

A. Bromine in carbon tetrachloride

B. Bromine in acetic acid solution

C. Alk. 

D. Ammonical silver nitrate

Answer: D

Watch Video Solution

CH3C ≡ C − CH3

CH3CH2 − CH2 − CH3

CH3CH2C ≡ CH

CH3CH = CH2

KMnO4

https://dl.doubtnut.com/l/_q5QjRm82c3h3
https://dl.doubtnut.com/l/_2AbS335dGbIk


74. The principal organic product formed in the reaction given below is : 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH2 = CH(CH2)8COOH + HBr
peroxide 
−−−−−→

CH3 − CHBr(CH2)8COOH

CH2 = CH(CH2)8COBr

CH2BrCH2(CH2)8COOH

CH2 = CH(CH2)7CHBrCOOH

75. When 2-butyne is treated with , the product formed

will be :

A. cis-2-butene

B. trans-2-butene

C. 1-butene

H2 /Pd − BaSO4

https://dl.doubtnut.com/l/_kSn1ciztqBDf
https://dl.doubtnut.com/l/_Y2yc8vFKM8yY


D. 2-hydroxy butane

Answer: A

Watch Video Solution

76.  


In the above reaction X is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3C ≡ CCH3

( i )X
−−−−−−−−−→

( ii )H2O/Zn
H3C − C

∣ ∣

O

− C
∣ ∣

O

− CH3

HNO3

O2

O3

KMnO4

https://dl.doubtnut.com/l/_Y2yc8vFKM8yY
https://dl.doubtnut.com/l/_uLDROUTqzEo9


77. Which of the following alkene on catalytic hydrogenation given cis and

trans-isomer ?

A. 

B. 

C. 

D. all of these

Answer: D

Watch Video Solution

78. In the reaction of hydrogen bromide with an alkene (in the absence of

peroxides), the first step of the reaction is the ............. to the alkene.

https://dl.doubtnut.com/l/_A1RCXdD7rXtZ
https://dl.doubtnut.com/l/_Ps8mayfhpmAi


A. fast addition of an electrophilic

B. slow addition of an electrophile

C. fast addition of a nucleophilic

D. slow addition of a nucleophile

Answer: B

Watch Video Solution

79. Which of the following alcohols cannot be prepared from hydration of

an alkene ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_Ps8mayfhpmAi
https://dl.doubtnut.com/l/_s0jL1V0hbYFg


D. 

Answer: D

Watch Video Solution

80. Which of the species shown below is the most stable form of the

intermediate in the electrophilic addition of  in water to cyclohexene

to form a halohydrin ?

A. 

B. 

Cl2

https://dl.doubtnut.com/l/_s0jL1V0hbYFg
https://dl.doubtnut.com/l/_cMXbB76ZxKWk


C. 

D. 

Answer: D

Watch Video Solution

81. The reaction,  is an

example of a/an ...... ........ step in a radical chain reaction.

A. initiation

B. termination

C. propagation

D. heterolytic cleavage

(CH3)
2
C = CH2 + Br ⋅ → (CH3)

2

⋅
C − CH2Br

https://dl.doubtnut.com/l/_cMXbB76ZxKWk
https://dl.doubtnut.com/l/_yKGR6lLsZf2o


Answer: C

Watch Video Solution

82. Which of the following most accurately describes the first step in the

reaction of hydrogen chloride with 1-butene ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

83. Which of the following best describes the flow of electrons in the acid-

catalyzed dimerization of  ?(CH3)2C = CH2

https://dl.doubtnut.com/l/_yKGR6lLsZf2o
https://dl.doubtnut.com/l/_UJklegvVbNi1
https://dl.doubtnut.com/l/_83CuxN8EXXji


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

84. Hydroboration of 1-methylcyclopentene using , followed by

treatment with alkaline hydrogen peroxide, gives

B2D6

https://dl.doubtnut.com/l/_83CuxN8EXXji
https://dl.doubtnut.com/l/_v09KMhLN4Rk3


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_v09KMhLN4Rk3
https://dl.doubtnut.com/l/_W4AaVUNDaZjg


85.  


The correct statements with respect to the above pair of reactions are

that (I) the reactions are stereospecific (II) (X) is erythro and (Y) is

threoisomer (III) (X) is threo and (Y) is erythro isomer (IV) each of (P) and

(Q) gives a mixture of (x) and (Y)

A. I and II

B. I and III

C. I and IV

D. II and IV

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_W4AaVUNDaZjg


86. Identify .Q. in the following sequency of reactions : 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

87. 4-Pentenoic acid when treated with  and  gives :I2 NaHCO3

https://dl.doubtnut.com/l/_j8uave7LgAlo
https://dl.doubtnut.com/l/_bUkfyjjRlvoh


A. 4,5-diiodopentanoic acid

B. 5-iodomrthyl-dihydrofuran-2-one

C. 5-iodo-tetrahydropyran

D. 4-pentenolyiodide

Answer: B

Watch Video Solution

88.  Product

(B) of the reaction is:

A. 

B. 

https://dl.doubtnut.com/l/_bUkfyjjRlvoh
https://dl.doubtnut.com/l/_88Lz7kMaYaE8


C. 

D. 

Answer: B

Watch Video Solution

89.  Product

(C) is :

A. 

B. 

C. 

D. 

Ph − C ≡ CNa

Ph − CH2 − C ≡ CH

Ph − C ≡ C − CH3

Ph − CH = C = CH2

https://dl.doubtnut.com/l/_88Lz7kMaYaE8
https://dl.doubtnut.com/l/_lmUx3IF2MLC9


Answer: C

Watch Video Solution

90. Which of the following will give a mixture of cis and trans-1,4-dimethyl

cyclohexane, when undergo catalytic hydrogenation ?

A. 

B. 

https://dl.doubtnut.com/l/_lmUx3IF2MLC9
https://dl.doubtnut.com/l/_9uexON0MNXiE


C. 

D. Both (a) and (b)

Answer: D

Watch Video Solution

91. An optically active compound A with molecular formula 

undergoes catalytic hydrogenation to give meso compound, the

structure of (A) is :

A. 

C8H14

https://dl.doubtnut.com/l/_9uexON0MNXiE
https://dl.doubtnut.com/l/_iGE9SS9vArMr


B. 

C. 

D. 

Answer: B

Watch Video Solution

92.  


How many products will be formed in above reaction ?

https://dl.doubtnut.com/l/_iGE9SS9vArMr
https://dl.doubtnut.com/l/_OpMQuKUA2a7Z


A. 2

B. 4

C. 3

D. 6

Answer: B

Watch Video Solution

93.  


Product of the reacion is :

A. Racemic

B. Diastereomers

C. Meso

https://dl.doubtnut.com/l/_OpMQuKUA2a7Z
https://dl.doubtnut.com/l/_KFo9Ch6AVr7V


D. Pure enantiomers

Answer: A

Watch Video Solution

94. cis-2-butene product , Product of the reaction is :

A. Racemic

B. Diastereomers

C. Meso

D. E and Z isomer

Answer: A

Watch Video Solution

HBr
−−−−−→
Peroxide 

https://dl.doubtnut.com/l/_KFo9Ch6AVr7V
https://dl.doubtnut.com/l/_s5VTEeQzQCvk


95.  


Rate of reaction towards reduction using 

A. a b

B. a = b

C. b a

D. Reduction of given molecule is not possible

Answer: A

Watch Video Solution

(H2 /Pt) :

https://dl.doubtnut.com/l/_E4lXn7AxCfYF


96.  Product A

of the above reaction is :

A. 

B. 

C. 

D. Both (a) and (b)

Answer: D

Watch Video Solution

R −

O

∣ ∣

C − R

R' − CHO

R − CO2H

https://dl.doubtnut.com/l/_Ft04uE8EDjK9


97. 

 Metachloroperbenzoic acid

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

MCPBA →

https://dl.doubtnut.com/l/_uqCArjYUTLRN
https://dl.doubtnut.com/l/_USnI7lU2TxfE


98.  Product of

the reaction is :

A. 

B. 

C. 

https://dl.doubtnut.com/l/_USnI7lU2TxfE


D. 

Answer: A

Watch Video Solution

99.  Product (A) of the above

reaction is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 − CH = CH2

( 1 ) THF :BD3

−−−−−−−−→
( 2 )CH3CO2T

(A)

CH3 − CHD − CH2D

CH3 − CHT − CH2T

CH3 − CHD − CH2T

CH3 − CHT − CH2D

https://dl.doubtnut.com/l/_USnI7lU2TxfE
https://dl.doubtnut.com/l/_4lrtoLGTpAPn


100. Optically active isomer (A) of on treatment with one mole

of H2 gives an optically inactive compound (B) compound (A) will be :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(C5H9Cl)

CH3 − CH
∣

CH2Cl

− CH = CH2

Cl − CH
∣

CH3

= CH − CH3

CH3 − CH
∣

Cl

− CH2 − CH = CH2

CH3 − CH2 − CH
∣

Cl

− CH = CH2

101. An organic compound  on ozonolysis give 

. Compound will be:

A. 

C4H6

HCHO, CO2, CH3CHO

H2C = CH − CH = CH2

https://dl.doubtnut.com/l/_4lrtoLGTpAPn
https://dl.doubtnut.com/l/_V4QAHK2XIkbk
https://dl.doubtnut.com/l/_2BSpMOoQeyEA


B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 − CH = C = CH2

CH3 − C = C − CH3

102.  major

product of this reaction is :

A. 

https://dl.doubtnut.com/l/_2BSpMOoQeyEA
https://dl.doubtnut.com/l/_7ceYgbqiiOKs


B. 

C. 

D. 

Answer: B

Watch Video Solution

103.  


Product (C) in the above reactions is :

A. 

CH3 −

CH3

∣

CH
∣

CH3

KmnO4

−−−−→ (A)
H +

−−→
Δ

(B)
HBr

−−−→
ROOR

(C)

CH3 −

H

∣

C
∣

CH3

− Br

https://dl.doubtnut.com/l/_7ceYgbqiiOKs
https://dl.doubtnut.com/l/_Q1jBP7rDOZD7


B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 −

∣

CH3

∣

C
CH3

− Br

CH3 − C
∣

CH2 −Br

H − H

104. Unknown (A)

in the above reaction is :

A. 2, 2, 3-trimethyl pentane

B. 2, 2, 4-trimethyl pentane

C. 2,2-dimethyl hexane

D. n-octane

Answer: B

CH3 −

CH3

∣

C − CH2 + (CH3)2CHCH3

HF
−−→
273K

C8H18(A)

https://dl.doubtnut.com/l/_Q1jBP7rDOZD7
https://dl.doubtnut.com/l/_euoDKwrW3QI9


Watch Video Solution

105.  Product

(Q) is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_euoDKwrW3QI9
https://dl.doubtnut.com/l/_R7cUd60pMXIV
https://dl.doubtnut.com/l/_MHQFr96pY76m


106.  


Product (C) of the reaction is:

A. 

B. 

C. 

D. 

Answer: C

W h Vid S l i

https://dl.doubtnut.com/l/_MHQFr96pY76m


Watch Video Solution

107. What is the major product expected from the following reaction ? 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_MHQFr96pY76m
https://dl.doubtnut.com/l/_XDwDIjPeqI2V


D. 

Answer: B

Watch Video Solution

108. Choose the correct product of this reaction : 

A. 

https://dl.doubtnut.com/l/_XDwDIjPeqI2V
https://dl.doubtnut.com/l/_8jaG7TymI8C0


B. 

C. 

D. 

Answer: B

Watch Video Solution

109. A, Product

A is:

A. 

https://dl.doubtnut.com/l/_8jaG7TymI8C0
https://dl.doubtnut.com/l/_itx7nIAKUShX


B. 

C. 

D. 

Answer: D

Watch Video Solution

110.  Product,

Product is :

https://dl.doubtnut.com/l/_itx7nIAKUShX
https://dl.doubtnut.com/l/_OeZCxaJWyxY6


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

111. Choose the correct product of the following reactions : 

https://dl.doubtnut.com/l/_OeZCxaJWyxY6
https://dl.doubtnut.com/l/_hfY1GVZwPZHt


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_hfY1GVZwPZHt


112. How many stereoisomeric tetrabromides will be formed in the

following reaction ? 

A. 2

B. 3

C. 4

D. 6

Answer: B

Watch Video Solution

113. How many stereoisomeric pentabromides will be formed in the

following reaction ? 

https://dl.doubtnut.com/l/_MjJ0LAXzhswl
https://dl.doubtnut.com/l/_tXPEbp1p3Nrr


A. 2

B. 3

C. 4

D. None of these

Answer: A

Watch Video Solution

114.  Identify

(Z) in the above sequence of reactions :

A. 

https://dl.doubtnut.com/l/_tXPEbp1p3Nrr
https://dl.doubtnut.com/l/_MS943OmGVFkr


B. 

C. 

D. 

Answer: B

Watch Video Solution

115.  


major product (A ) of the above reaction :

A. 

B. 

https://dl.doubtnut.com/l/_MS943OmGVFkr
https://dl.doubtnut.com/l/_DCoYp98nISQe


C. 

D. 

Answer: C

Watch Video Solution

116.  


(only one enantiomer is taken) Which of the following statement is

correct about A and B ?

A. A and B are mixture of diastereomers

B. A and B are mixture of enantiomer

C. A and B are optically active

D. B is racemic mixture

https://dl.doubtnut.com/l/_DCoYp98nISQe
https://dl.doubtnut.com/l/_MsgCm4CyDAM1


Answer: A

Watch Video Solution

117. Complete the following reaction

A. 

B. 

C. 

https://dl.doubtnut.com/l/_MsgCm4CyDAM1
https://dl.doubtnut.com/l/_5MRYZXhvE9KA


D. 

Answer: B

Watch Video Solution

118.  


Product (Y) of the above reaction is :

A. 

B. 

https://dl.doubtnut.com/l/_5MRYZXhvE9KA
https://dl.doubtnut.com/l/_BSsJpmXhbG5f


C. 

D. 

Answer: B

Watch Video Solution

119. In the reaction (Q), then Q is :

A. A pure compound which is optically inactive due to internal

compensation

B. A binary mixture which is optically inactive due to external

compensation

C. A binary mixture which is optically active

D. A pure compound which is optically inactive due to absence of

chiral centre

Me– C ≡ C − Et
Na/ lig .NH3

−−−−−−−→ P
Br2

−−→
CCl4

https://dl.doubtnut.com/l/_BSsJpmXhbG5f
https://dl.doubtnut.com/l/_qZfqyzsxVRZ9


Answer: B

Watch Video Solution

120.  


Which ( -bond) will reduce first, when above compound undergoes

catalytic hydrogenation ?

A. a

B. b

C. c

D. d

Answer: D

h id l i

π

https://dl.doubtnut.com/l/_qZfqyzsxVRZ9
https://dl.doubtnut.com/l/_lOkwn818l58u


Watch Video Solution

121. Compound A, which is a degradation product of the antibiotic

vermiculine has following structure 





View Text Solution

122.  


Major product (A) is :

A. 

https://dl.doubtnut.com/l/_lOkwn818l58u
https://dl.doubtnut.com/l/_HjCj9A4Bg19S
https://dl.doubtnut.com/l/_PDVDoen9Jpdu


B. 

C. 

D. 

Answer: C

Watch Video Solution

123. In the reaction given below, the product would be : 

A. a mixture of diastereomers

B. optically active

CH3 − CH = CH − CH3

H3O
+

−−−→ CH3 − CH2 −

OH

∣

CH − CH3

https://dl.doubtnut.com/l/_PDVDoen9Jpdu
https://dl.doubtnut.com/l/_Y6duFtK7U4Tf


C. optically pure enantiomer

D. a racemic mixture

Answer: A

Watch Video Solution

124. Surprisingly, the reaction shown below goes through classical

carbocation. What is the major product of this reaction ? 

A. trans-1, 3-dibromocyclohexane

B. cis-1, 3-dibromocyclohexane

C. trans-1, 2-dibromocyclohexane

https://dl.doubtnut.com/l/_Y6duFtK7U4Tf
https://dl.doubtnut.com/l/_oIsZIedubizY


D. cis-1, 2-dibromocyclohexane

Answer: B

Watch Video Solution

125. The major product of the reaction given below is : 

A. (i) and (ii)

B. (iii) and (iv)

C. (v) and (vi)

D. none of these

Answer: C

https://dl.doubtnut.com/l/_oIsZIedubizY
https://dl.doubtnut.com/l/_KDyI5GV4GBC2


Watch Video Solution

126. Which reaction will occur at the fastest rate ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_KDyI5GV4GBC2
https://dl.doubtnut.com/l/_RTDPrjd2QGcP


127.  Above

reaction is known as:

A. Wurtz reaction

B. Fittig reaction

C. Wurtz fittig reaction

D. Kolbe electrolysis

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_B3btGmjyene3


128. 


Product A is :

A. propane

B. propanol

C. prapanoic acid

D. propene

Answer: A

Watch Video Solution

CH3 − CH2 −

O

∣ ∣

C − H
RedP +HI
−−−−−−→ A

129. Which of the following compound give diastereomers when treated

with  in ?Br2 CCl4

https://dl.doubtnut.com/l/_xRiR7KyMNZgJ
https://dl.doubtnut.com/l/_GbE6EZ5PGhzr


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_GbE6EZ5PGhzr


130. A mixture of  is bubbled through alkaline

solution of copper (I) chloride, contained in Woulf's bottle. The gas

coming out is

A. original mixture

B. 

C.  and  mixture

D. 

Answer: C

Watch Video Solution

C2H6, C2H4 and C2H2

C2H6

C2H6 C2H4

C2H4 and C2H2

131.  The

number of possible products for x and y is :

A. 2,4

https://dl.doubtnut.com/l/_5xGffGAl77vQ
https://dl.doubtnut.com/l/_fz4fYa95Kj7c


B. 3,5

C. 3,6

D. 3,4

Answer: B

Watch Video Solution

132. Select the incorrect statement :

A. Bromine is more selective and less reactive

B. Chlorine is less selective and more reactive

C. Benzyl free radical is more stable than  free radical

D. Vinyl free radical more stable than allyl free radical

Answer: D

Watch Video Solution

2∘

https://dl.doubtnut.com/l/_fz4fYa95Kj7c
https://dl.doubtnut.com/l/_NMvl5m315Ocv
https://dl.doubtnut.com/l/_BDo8FkkuSLOQ


133. Which of the following compound does not evolve  gas, when

undergo oxidative ozonolysis ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CO2

H2C = CH − CH = CH2

https://dl.doubtnut.com/l/_BDo8FkkuSLOQ
https://dl.doubtnut.com/l/_l6YpgFv3R9C9


134. cis-3-hexene  meso 3,4-hexanediol trans-3-hexene  meso

3,4-hexanediol. Choose pair of reagent (a, b) for above conversions.

A. Cold 

B. cold 

C.  cold 

D. None of these

Answer: B

Watch Video Solution

(a)
−−→

(b)
−−→

KmNO4, OsO4

KmnO4, RCO3H /H3O
O+

RCO3H /H3O
O+ KmnO4

135.  

Product (C) of the above reaction is :

A. 1,3-hexadiene

B. 1,4-pentadiene

https://dl.doubtnut.com/l/_l6YpgFv3R9C9
https://dl.doubtnut.com/l/_dtEoEPYFgXw3


C. 1,3-butadiene

D. 1,3-heptadiene

Answer: B

Watch Video Solution

136. How many carbon-hydrogen bond orbitals are available for overlap

with the vacant p-orbital in ethyl carbocation ?

A. 0

B. 3

C. 5

D. 6

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_dtEoEPYFgXw3
https://dl.doubtnut.com/l/_gFdB6ufMEONe
https://dl.doubtnut.com/l/_LtfhePhUfWCc


137.  


To achieve above conversion, the reagents used will be :

A. 

B. 

C. 

D. (cold) 

Answer: B

Watch Video Solution

O3 /H2O2, HO− /Δ

Hbr, alcKOH, O3, LiAIH4, H + /Δ

HBr, t − buOK, O3, KMnO4, Δ

HCl, KMnO3 , H + /Δ

138. 

https://dl.doubtnut.com/l/_LtfhePhUfWCc
https://dl.doubtnut.com/l/_s0Sc5Rb0CHzs


A. 

B. 

C. 

https://dl.doubtnut.com/l/_s0Sc5Rb0CHzs


D. 

Answer: B

Watch Video Solution

139. Decreasing order of heat evolved upon catalytic hydrogenation of

given reactants with a  (Pd/C) is : 

A. 

B. 

C. 

H2

b > c > a > d

d > a > c > b

d > c > a > b

https://dl.doubtnut.com/l/_s0Sc5Rb0CHzs
https://dl.doubtnut.com/l/_bihX0Xmit6pP


D. 

Answer: B

Watch Video Solution

c > b > c > d

140.  

The correct order of heat of hydrogenation of given molecules is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

d > c > a > b

d > c > b > a

b > a > c > d

d > a > c > b

https://dl.doubtnut.com/l/_bihX0Xmit6pP
https://dl.doubtnut.com/l/_2hpXfSbmm9aB
https://dl.doubtnut.com/l/_j3o7VC5BaJ2O


141.  


Product (A) of the above reaction is :

A. 

B. 

C. 

D. 

Answer: B

https://dl.doubtnut.com/l/_j3o7VC5BaJ2O


Watch Video Solution

142.  


Product (A) is :

A. 

B. 

C. 

https://dl.doubtnut.com/l/_j3o7VC5BaJ2O
https://dl.doubtnut.com/l/_hyIABKMF739s


D. 

Answer: A

Watch Video Solution

143. What is the product of 1, 4-addition in the reaction shown below? 

A. 

B. 

https://dl.doubtnut.com/l/_hyIABKMF739s
https://dl.doubtnut.com/l/_UQSy67gwjv0A


C. 

D. 

Answer: D

Watch Video Solution

144.  


Dehydration of the above compound will give :

A. meso product

B. racemic mixture

C. diastereomer

D. optically pure enantiomer

https://dl.doubtnut.com/l/_UQSy67gwjv0A
https://dl.doubtnut.com/l/_ilhDuXyPX64Q


Answer: B

Watch Video Solution

145.  


What is stereochemistry of product ?

A. Racemic mixture

B. Optically inactive

C. Diastereomers

D. Meso product

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ilhDuXyPX64Q
https://dl.doubtnut.com/l/_NQPEL9f3cNpm


146.  


End product formed in the above reaction is :

A. Optically active

B. Racemic

C. Meso

D. Diastereomer

Answer: D

Watch Video Solution

147. How many moles of  are needed to react completely with 2 mole

of 1-pentene in hydroboration-oxidation reaction ?

A. 2 mole

BH3

https://dl.doubtnut.com/l/_NQPEL9f3cNpm
https://dl.doubtnut.com/l/_Xb65budXxWli
https://dl.doubtnut.com/l/_L6C0NGYwGxH8


B. 3 mole

C. 2/3 mole

D. 3/2 mole

Answer: C

Watch Video Solution

148.  


Product (B) in the above reaction is :

A. 

https://dl.doubtnut.com/l/_L6C0NGYwGxH8
https://dl.doubtnut.com/l/_64tbFPKeVju9


B. 

C. 

D. 

https://dl.doubtnut.com/l/_64tbFPKeVju9


Answer: C

Watch Video Solution

149.  (?) 


Product of the above reaction is :

A. 

B. 

C. 

D. Both (a) and (b)

Answer: B

Watch Video Solution

H2

14

C = CH − CH3

low conc of Br2

−−−−−−−−−→
or high   temp

H2

14

C = CH − CH2 − Br

H2C = CH −
14

CH2 − Br

14

CH2
∣

Br

− CH
∣

Br

− CH3

150. In which of the following reactions 1,3-butadiene will be obtained as a

major product ?

https://dl.doubtnut.com/l/_64tbFPKeVju9
https://dl.doubtnut.com/l/_LnfbE24xuNjx
https://dl.doubtnut.com/l/_cp0i3OOwFhXF


A. 

B. 

C. 

D. All of these

Answer: B

Watch Video Solution

Br − CH2 − CH2 − CH2 − CH2 − Br
(CH3 ) 3COK ( 2 mole )
−−−−−−−−−−−−−→

(CH3 ) 2COH

HO − CH2 − CH2 − CH2 − CH2 − OH
concH2SO4

−−−−−−→

H2C = CH ≡ CH
H21 mole
−−−−→
Ni2B

151.  


Identify A.

A. 

B. 

C. 

CH3 − C
∣

CH3

H − CHO

CH3 −

O

∣ ∣

C − cH2CH3

https://dl.doubtnut.com/l/_cp0i3OOwFhXF
https://dl.doubtnut.com/l/_RfXCgyileUdU


D. 

Answer: B

Watch Video Solution

CH3 −

CH3

∣

C = CH2

152.  


Product (A) is :

A. 

B. 

https://dl.doubtnut.com/l/_RfXCgyileUdU
https://dl.doubtnut.com/l/_TiBDfdCfQmed


C. 

D. 

Answer: B

Watch Video Solution

153.  


Bromination take place at :

A. a

https://dl.doubtnut.com/l/_TiBDfdCfQmed
https://dl.doubtnut.com/l/_AYoT1pah0b36


B. b

C. c

D. d

Answer: A

Watch Video Solution

154. Which is incorrect statement about heats of combustion ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Iso − bute ≠ > trans − 2 − bute ≠ > 1 − bute ≠

n − Hexa ≠ < n − Hep tan e < n − Oc tan e

https://dl.doubtnut.com/l/_AYoT1pah0b36
https://dl.doubtnut.com/l/_xs9jfbXUQ0GA


155. Predict the major product of the reaction. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_xs9jfbXUQ0GA
https://dl.doubtnut.com/l/_tnsmCdn20yby


156.  product

of the reaction is :

A. Meso compound

B. Enantiomeric pair

C. Diastereomers

D. Optically pure enantiomer

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_904qWqw2WEIK


157.  


Product (A) of above reaction is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3OCH
∣

CO2H

− CH2 − CH2 − CHO

CH3O − CH2 −

CH2H

∣

C H − CH2 − CO2H

CH3O − C
∣

CO2H

H − CH2 − CH2 − CO2H

CH3O − CH
∣

CO2H

− CH2 − CH2 − CH2 − CHO

https://dl.doubtnut.com/l/_uE1bl13NLshf


158.  Products,

Comment up on optical activity of products.

A. Diastereomers

B. Racemic mixture

C. Meso

D. Optically pure enantiomer

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_St5csHB8quyi


159.  


Addition of a mineral acid to an olefin bond leads to major product,

Identify it:

A. 

B. 

C. 

D. 

Answer: C

https://dl.doubtnut.com/l/_glpute3npdNP


Watch Video Solution

160.  


In polyenes that contain differently substituted (C=C) double bonds, it is

possible to hydrogenate chemeselectively one (C=C) double bond.

Product is :

A. 

https://dl.doubtnut.com/l/_glpute3npdNP
https://dl.doubtnut.com/l/_hf0Pk2tQTw9I


B. 

C. 

https://dl.doubtnut.com/l/_hf0Pk2tQTw9I


D. 

Answer: B

Watch Video Solution

161.  


MCPBA  meta-chloro perbenzoic acid) Stereochemistry of the product

of above reaction is :

A. Meso

→

https://dl.doubtnut.com/l/_hf0Pk2tQTw9I
https://dl.doubtnut.com/l/_36HZo6UDhPWb


B. Racemic

C. Diastereomers

D. Optically inactive due to absence of chiral center.

Answer: B

Watch Video Solution

162.  


Identify product (P).

https://dl.doubtnut.com/l/_36HZo6UDhPWb
https://dl.doubtnut.com/l/_E0eseWkxeRRa


A. 

B. 

C. 

D. 

Answer: B

W t h Vid S l ti

https://dl.doubtnut.com/l/_E0eseWkxeRRa


Watch Video Solution

163.  


A isomerise to B on addition of traces of acid . Compound (B) is :

A. 

H2SO4

https://dl.doubtnut.com/l/_E0eseWkxeRRa
https://dl.doubtnut.com/l/_0kzveKGnbXXD


B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_0kzveKGnbXXD


164.  


Product (A) of the reaction is :

A. 

B. 

https://dl.doubtnut.com/l/_9hTnX5XyHptP


C. 

D. None of these

Answer: B

Watch Video Solution

165.  Product

(A) is :

https://dl.doubtnut.com/l/_9hTnX5XyHptP
https://dl.doubtnut.com/l/_u1rleBo1AJqy


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_u1rleBo1AJqy
https://dl.doubtnut.com/l/_1tj6HHfHNmcJ


166. Which of the following reactions do not represent the major product

of given Birch reductions ? 

A. (i), (iii), (vi)

B. (iv), (vi), (vii)

C. (iv), (v), (vi)

D. (i), (ii), (v), (vii)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_1tj6HHfHNmcJ


167.  


Product (A) is:

A. 

B. 

C. 

https://dl.doubtnut.com/l/_GnsGH75vqHA4


D. 

Answer: B

Watch Video Solution

168.  


Correct statement about above reaction is:

A. A =cis-2-chlorocyclohexanol,

B. A = trans-2-chloro cyclohexanol,

C. A = trans-2-chlorocyclohexanol,

D. A = cis-2-chlorocyclohexanol,

https://dl.doubtnut.com/l/_GnsGH75vqHA4
https://dl.doubtnut.com/l/_G2ldF8S9fmXe


Answer: C

Watch Video Solution

169.  Predict

the major product:

A. 

B. 

https://dl.doubtnut.com/l/_G2ldF8S9fmXe
https://dl.doubtnut.com/l/_VPbGzHIhFZSg


C. 

D. 

Answer: C

Watch Video Solution

170.  Product

(A) is :

https://dl.doubtnut.com/l/_VPbGzHIhFZSg
https://dl.doubtnut.com/l/_9L7WIee9HfHU


A. 

B. 

C. 

https://dl.doubtnut.com/l/_9L7WIee9HfHU


D. 

Answer: C

Watch Video Solution

171.  Major

product of the reaction is :

A. 

https://dl.doubtnut.com/l/_9L7WIee9HfHU
https://dl.doubtnut.com/l/_jvx4do31sazO


B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jvx4do31sazO


172. 

stereochemistry of the product is:

A. Diastereomers

B. Racemic mixture

C. Meso

D. Pure Enantiomers

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ziuTyAxiE5JG


173.  Product/s

obtained is/are :

A. Diastereomers

B. Meso

C. Racemic

D. Optically pure enantiomers

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_pcVKbOSVDlkk


174. Product

(x) is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_igglEsHEyM35


175. 

product (A) is :

A. 

B. 

C. 

D. `none

Answer: B

Watch Video Solution

CH3 − CH2 − CH2 − CH2 −

CH3

∣

C
∣

CH3

− CH2 − OH
H +

−−→
Δ

A
( major )

CH3 − CH2 − CH2 − CH2 − C
∣

CH3

= CH − CH3

CH3 − CH2 − CH2 − CH2 − C
∣

CH3

= CH2

CH3 − CH2 − CH
∣

CH3

− CH2 −

CH3

∣

C − CH2

176.  


Comment on optical activity of the products:

A. Racemic

CH3 − CH = CH − CH3

HBr
−−−−−−−−−−−−−−−−−−−−−−→
R2O2 Δ (Anti-Markownikoff's addition)

https://dl.doubtnut.com/l/_igglEsHEyM35
https://dl.doubtnut.com/l/_UICnL9PCUVx4
https://dl.doubtnut.com/l/_HveReNKEr8o2


B. Diastereomer

C. Meso

D. Optically pure enantiomer

Answer: A

Watch Video Solution

177.  Product

(al is :

A. 

https://dl.doubtnut.com/l/_HveReNKEr8o2
https://dl.doubtnut.com/l/_PRaIXQQnmU2F


B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_PRaIXQQnmU2F


178.  


Alkene (A) will be :

A. cis-2-pentene

B. cis-2-hexene

C. cis-4-octene

D. trans-2-hexene

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vZ07uvueWo6g


179.  


Product (A) is

A. trans-2-butane

B. cis-2-butene

C. 1-butene

D. Iso-butene

Answer: B

Watch Video Solution

180. In which of the following reactions, two products will be formed

other than phosphonium ylide (POPh3)

https://dl.doubtnut.com/l/_mLiwIAPMwCsd
https://dl.doubtnut.com/l/_JgK4YGzHmiIw


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CHO + Ph3P = C
∣

CH3

− CH3 →

Ph −

O

∣ ∣

C − H + Ph3P = CH − Ph →

H −

O

∣ ∣

C − H + Ph3P = CH − CH3 →

181. To carry out the given conversions, select the correct option: 

A. 

B. 

a = Ag2O, b = Zn/CH3CO2H, C = LiAlH4

a = H2O2, b = CH3 − S − CH3, c = NaBH4

https://dl.doubtnut.com/l/_JgK4YGzHmiIw
https://dl.doubtnut.com/l/_aGgjdTf44v10


C. Both (a) and (b

D. None of these

Answer: C

Watch Video Solution

182. The product (A) of given alkoxymercuration de-mercuration is : 

A. 

B. 

https://dl.doubtnut.com/l/_aGgjdTf44v10
https://dl.doubtnut.com/l/_V8hy2DhxpLiv


C. 

D. 

Answer: B

Watch Video Solution

183.  

End product of the reaction is :

A. 

B. 

CH3 −

ONa

∣

C = CH2

HC=CH
−−−−−→

H +

−−→
H2

−−−−−−→
pd−BaSO4

Δ
Al2O3
−−→

H2C = CH − C
∣

CH3

− CH2

CH3 − CH = CH − CH = CH2

https://dl.doubtnut.com/l/_V8hy2DhxpLiv
https://dl.doubtnut.com/l/_RrTuWpoBC4px


C. 

D. 

Answer: A

Watch Video Solution

H2 = CH − cH = cH2

H2C = CH − CH2 − CH = CH2

184. Major product of the given reaction is : 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2C = CH − CH2 − I
HI (excess)
−−−−−→

CCl4

CH3 − C
∣

I

H − C
∣

I

H2

CH3 − CH
∣

I

− CH3

CH3 − CH2 − CH2 − I

I − CH2 − CdH2 − CH2 − I

https://dl.doubtnut.com/l/_RrTuWpoBC4px
https://dl.doubtnut.com/l/_39zDYYchh1vS


185. The rate constant for a reaction can be increased by a the stability of

the reactant or by b the stability of the transition state. Select the correct

choice for a and b.

A. decreasing, decreasing

B. increasing, decreasing

C. decreasing, increasing

D. increasing, increasing

Answer: C

Watch Video Solution

186. Major product of the given reaction is : 

https://dl.doubtnut.com/l/_QwlYP88GgHSN
https://dl.doubtnut.com/l/_vY5eUpE3suYm


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2C = C −

CH3

∣

C H2 − CH2 − CH3

https://dl.doubtnut.com/l/_vY5eUpE3suYm
https://dl.doubtnut.com/l/_AfJqZKKqEpGL


187.  


Major product (A) is :

A. 

B. 

https://dl.doubtnut.com/l/_AfJqZKKqEpGL


C. 

D. 

Answer: C

Watch Video Solution

188. In the given reaction, only one alkene undergo preferential oxidation

by electrophilic ozone. Identify product (P) of the given reaction: 

https://dl.doubtnut.com/l/_AfJqZKKqEpGL
https://dl.doubtnut.com/l/_jEklgjIqrqPv


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 −

O

∣ ∣

C − CH2 − CH = C
∣

Ome

− CH2 − CHO

CH3 −

OH

∣

CH − CH2 − CH = C
∣

Ome

− CH2 − CH2 − OH

https://dl.doubtnut.com/l/_jEklgjIqrqPv


189.  Product

(P) is:

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_epPaWHvtCKQp


Answer: D

Watch Video Solution

190.  Major

product of the reaction is :

A. 

B. 

C. 

https://dl.doubtnut.com/l/_epPaWHvtCKQp
https://dl.doubtnut.com/l/_L4zva0wqIQdL


D. 

Answer: B

Watch Video Solution

191.  Product

(B) is :

A. 

B. 

C. 

D. 

Answer: C

Ph −

OH

∣

CH − CH = CH − CH2 −

O

∣ ∣

C − H

Ph − CH = CH − CHO

Ph − (CH = CH)2 − CHO

Ph − (CH = CH)3 − CHO

https://dl.doubtnut.com/l/_L4zva0wqIQdL
https://dl.doubtnut.com/l/_E5igOrNAu2dM


Watch Video Solution

192. Isobutene, in the presence of , forms a mixture of two

isomeric alkene . The major alkene is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2SO4

(C8H16)

CH3 −

CH3

∣

C
∣

CH3

− CH =

CH3

∣

C − CH3

CH3 −

CH3

∣

C
∣

CH3

− CH2 −

CH3

∣

C H − CH2

CH3 −

CH3

∣

CH − CH = CH −

CH3

∣

CH − CH3

CH2 =

CH3

∣

C − CH2 − CH2 −

CH3

∣

CH − CH3

193. An unknown alkene (A) reacts with 3 mole of  gas in presence of

platinum catalyst to form 1-isopropyl-4-methyl cyclohexane. When

H2

https://dl.doubtnut.com/l/_E5igOrNAu2dM
https://dl.doubtnut.com/l/_WiLS9sODHxmi
https://dl.doubtnut.com/l/_eTssbhX8cLV0


unknown alkene (A) is ozonized and reduced, following product are

obtained 

The alkene (A) is :

A. 

B. 

H −

O

∣ ∣

C − H   H −

O

∣ ∣

C − CH2 −

O

∣ ∣

C −

O

∣ ∣

C − CH3,    CH3 −

O

∣ ∣

C − CH2 −

O

∣

C

https://dl.doubtnut.com/l/_eTssbhX8cLV0


C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_eTssbhX8cLV0


194.  


Product (C) is :

A. 

B. 

C. 

D. Both (a) and (b)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_RrYFoDHC95PO


195. The following reaction take place in high yields. 

 


Use your knowledge of alkene chemistry to predict a product even

though you have never seen this reaction before

A. 

B. 

C. 

https://dl.doubtnut.com/l/_RrYFoDHC95PO
https://dl.doubtnut.com/l/_qOh8Xws6DMBf


D. 

Answer: B

Watch Video Solution

196.  


What is the ratio of glyoxal to pyrualdehyde obtained in the above

reaction ?

A. 

B. 

C. 

D. 

Answer: C

1: 3

3: 1

1: 2

2: 3

https://dl.doubtnut.com/l/_qOh8Xws6DMBf
https://dl.doubtnut.com/l/_dQpG19sba01I


Watch Video Solution

197.  


Which of the following product cannot be obtained in above reaction ?

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

H −

O

∣ ∣

C − CH2 −

O

∣ ∣

C − H

CH3 −

O

∣ ∣

C − CH2 −

O

∣ ∣

C − H

CH3 − CH
∣

CHO

−

O

∣ ∣

C − H

https://dl.doubtnut.com/l/_dQpG19sba01I
https://dl.doubtnut.com/l/_MmBDGlGgkoZM


198.  

Product (A) is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 −

CH3

∣

C
∣

OH

−

CH3

∣

C
∣

OH

− CH3

CH3 −

O

∣ ∣

C − CH3

CH3 −

O

∣ ∣

C − C(CH3)3

https://dl.doubtnut.com/l/_pi51HBPG3hcL


199.  


Product (A) of the reaction is :

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_bMOxYaf5gw8e


200.  


Product (A) is :

A. 

B. 

https://dl.doubtnut.com/l/_2e4QqsjWG3da


C. 

D. 

Answer: B

Watch Video Solution

201.  


Arrange the above in the decreasing order of reactivity towards HBr :

https://dl.doubtnut.com/l/_2e4QqsjWG3da
https://dl.doubtnut.com/l/_qi3Xd1vL0kPm


A. a gtbgtc

B. b gtagtc

C. b gtcgta

D. a gtcgtb

Answer: B

Watch Video Solution

202. Which reaction has the lowest or (Activation-Energy)?

A. 

B. 

C. 

D. 

ΔG
+
+

https://dl.doubtnut.com/l/_qi3Xd1vL0kPm
https://dl.doubtnut.com/l/_iJ5lsX3RsGrP


Answer: D

Watch Video Solution

203. Which of the following will rearrange ? 

A. 1

B. 1 and 3

C. All

D. 1,2,4

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_iJ5lsX3RsGrP
https://dl.doubtnut.com/l/_qltXPNbn5vE0


204. Which of the following is most likely to undergo a favorable hydride

shift ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_qRAoeJYSqbom


205. Energy profile diagram for dehydration of 2-butanol using conc.

 is given below: 

 


Product (b) of above reaction is :

A. 1-butene

B. cis-2-butene

C. trans-2-butene

D. iso-butene

Answer: B

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_qRAoeJYSqbom
https://dl.doubtnut.com/l/_BVWanusvE5jG


206. How many alkene on catalytic hydrogenation given isopentane as a

product ?

A. A) 2

B. B) 3

C. C) 4

D. D) 5

Answer: B

Watch Video Solution

207. Which of the following would not rearrange to a more stable form?

A. 

https://dl.doubtnut.com/l/_BVWanusvE5jG
https://dl.doubtnut.com/l/_avPM7QrxESDw
https://dl.doubtnut.com/l/_jdH8F9zOhYFK


B. 

C. 

D. 

Answer: C

Watch Video Solution

208. Consider the following reaction. 

 

In this reaction  acts as:SbF5

https://dl.doubtnut.com/l/_jdH8F9zOhYFK
https://dl.doubtnut.com/l/_228FaKi50SPt


A. an acid

B. a base

C. a nucleophile

D. an electrophile

Answer: D

Watch Video Solution

209.  


Product (Z) is:

A. 

https://dl.doubtnut.com/l/_228FaKi50SPt
https://dl.doubtnut.com/l/_j3uYkxtyhnOV


B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_j3uYkxtyhnOV


210.  

Relation between (B) and (C) is:

A. Enantiomer

B. Diastereomer

C. Geometrical isomer

D. Meso

Answer: B::C

Watch Video Solution

211. The reaction of HBr with the following compound would produce : 

https://dl.doubtnut.com/l/_xU7aWK6adtyw
https://dl.doubtnut.com/l/_tfh5UCtRF7dI


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

212.  is an

example of:

A. Nucleophilic addition

https://dl.doubtnut.com/l/_tfh5UCtRF7dI
https://dl.doubtnut.com/l/_36wmUyIN4nCD


B. Nucleophilic substitution

C. Electrophilic substitution

D. Electrophilic addition

Answer: C

Watch Video Solution

213. Olefins can be hydrogenated by :

A. A) Zinc and HCl

B. B) Nascent hydrogen

C. C) Raney Ni and H

D. D) Lithium hydride in ether

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_36wmUyIN4nCD
https://dl.doubtnut.com/l/_5gmBi89g6NBx
https://dl.doubtnut.com/l/_SyjAeFXChgoj


214. What are the products obtained on hydroboration-oxidation of the

given alkene  


A. I and III

B. II and IV

C. II and VI

D. III and V

https://dl.doubtnut.com/l/_SyjAeFXChgoj


Answer: D

Watch Video Solution

215.  


Relation between A and B, C and D are :

A. Position, chain

B. Position, Functional

C. Chain, Identical

D. Metamer, Functional

Answer: B

Watch Video Solution

216. In which reaction syn addition doesn't take place.

https://dl.doubtnut.com/l/_SyjAeFXChgoj
https://dl.doubtnut.com/l/_dxjoHi37R1op
https://dl.doubtnut.com/l/_AZiEywTipbK4


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

217. Number of of  Number of Markonikow 

(including stereo) x+y is :

A. 5

B. 6

C. 7

olefin 
(X )

C4H8

HBr
−−→ product 

( y )

https://dl.doubtnut.com/l/_AZiEywTipbK4
https://dl.doubtnut.com/l/_knOPmeRjogo1


Level 2

D. 8

Answer: C

Watch Video Solution

1.  


In each reagent box write a letter designating the best reagent and

condition selected from the above list of reagents. 

Watch Video Solution

https://dl.doubtnut.com/l/_knOPmeRjogo1
https://dl.doubtnut.com/l/_8X8q9II8aynt


2. Propene can be transformed to compounds (a to

j) listed in the left-hand column. Write letter designating the reagent, you

believe will achieve desired transformation. In the case of a multi step

sequence write the reagent in the order they are to be used. 

 


Watch Video Solution

(CH3– CH = CH2)

https://dl.doubtnut.com/l/_o00nNIQ2PNfM


3. In each reaction box write a single letter designating the best reagent

and condition selected from the list at bottom of the page. (F.S.,  first

step, S.S  second step, T.S.  third step) 

View Text Solution

→

→ →

https://dl.doubtnut.com/l/_o00nNIQ2PNfM
https://dl.doubtnut.com/l/_b4waq0RUhzOy


4. Match the reagents a-j with products A-J. There is one best product for

each reaction. 

 

The molecule (x) is the starting material for all reactions in problem. Do

https://dl.doubtnut.com/l/_HlHxiGAM6jjn


the ones you know first and then tackle the rest by deductive reasoning 

View Text Solution

https://dl.doubtnut.com/l/_HlHxiGAM6jjn


5. Match the column : 

Watch Video Solution

6. Match the column I with column II and with column III (Matrix). 

https://dl.doubtnut.com/l/_lfXIOksscHom
https://dl.doubtnut.com/l/_hcyfuhFhXLwK


Watch Video Solution

7. Match the column I and II. 

Watch Video Solution

https://dl.doubtnut.com/l/_hcyfuhFhXLwK
https://dl.doubtnut.com/l/_S8hgbIV8iDZo


8. Sum of molecular mass of A, B, C, D (i.e. A+B + C + D) is equal to : 

Watch Video Solution

9. (exclude stereoisomer) 

(2)  (exclude stereoisomer) Total number of

products (A) and (B) is equal to:

Watch Video Solution

C2FClBrl
(all isomers) 

H2
−−→
Ni

(A)

C4H8(alkene)
(all isomers)

H2
−−→
Ni

(B)

https://dl.doubtnut.com/l/_yHynKFdZWmWd
https://dl.doubtnut.com/l/_j4AVGrzgPWXv


10.  How many

products are formed by sum of P,Q,R,S ?

Watch Video Solution

11. Vladimir Markovnikov rule : Alkenes undergo electrophilic addition

reactions. It is triggered by the acid acting as a electrophile toward t-

electrons of the double bond. Markovnikov's rule states that when an

unsymmetrically substituted alkene reacts with a hydrogen halide, the

hydrogen atom adds to the carbon that has the greater number of

hydrogen, e.g., 

https://dl.doubtnut.com/l/_TjUWkyzMDZxk
https://dl.doubtnut.com/l/_u2uTCD6QyMlb


 


Which of the following is most reactive toward Markovnikov addition ?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_u2uTCD6QyMlb


Answer: B

Watch Video Solution

12. Vladimir Markovnikov rule : Alkenes undergo electrophilic addition

reactions. It is triggered by the acid acting as a electrophile toward t-

electrons of the double bond. Markovnikov's rule states that when an

unsymmetrically substituted alkene reacts with a hydrogen halide, the

hydrogen atom adds to the carbon that has the greater number of

hydrogen, e.g., 

 


What is the energy profile for the given reaction ?

A. 

https://dl.doubtnut.com/l/_u2uTCD6QyMlb
https://dl.doubtnut.com/l/_poyNLyTBxkIr


B. 

C. 

D. 

Answer: C

Watch Video Solution

13. Vladimir Markovnikov rule : Alkenes undergo electrophilic addition

reactions. It is triggered by the acid acting as a electrophile toward t-

electrons of the double bond. Markovnikov's rule states that when an

unsymmetrically substituted alkene reacts with a hydrogen halide, the

https://dl.doubtnut.com/l/_poyNLyTBxkIr
https://dl.doubtnut.com/l/_tJ3yCpQu8dEV


hydrogen atom adds to the carbon that has the greater number of

hydrogen, e.g., 

 


In which of following reactions carbocation rearrangement is possible ?

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

(CH3)2CH − CH = CH2

HCl
−−→
O∘C

(CH3)3C − CH = CH2

HBr
−−−−→
0 ∘C /Cl4

ph − CH2 − CH − CH2

HBr
−−→
CCl4

14. Vladimir Markovnikov rule : Alkenes undergo electrophilic addition

reactions. It is triggered by the acid acting as a electrophile toward t-

https://dl.doubtnut.com/l/_tJ3yCpQu8dEV
https://dl.doubtnut.com/l/_yQbP40SlRzpT


electrons of the double bond. Markovnikov's rule states that when an

unsymmetrically substituted alkene reacts with a hydrogen halide, the

hydrogen atom adds to the carbon that has the greater number of

hydrogen, e.g., 

 


Identify the major products  in the given reactions. 

A. 

B. 

r1, r2, and r3

https://dl.doubtnut.com/l/_yQbP40SlRzpT


C. 

D. 

Answer: B

Watch Video Solution

15. Vladimir Markovnikov rule : Alkenes undergo electrophilic addition

reactions. It is triggered by the acid acting as a electrophile toward t-

electrons of the double bond. Markovnikov's rule states that when an

unsymmetrically substituted alkene reacts with a hydrogen halide, the

hydrogen atom adds to the carbon that has the greater number of

hydrogen, e.g., 

 


In which of the following reactions, product is racemic mixture ?

https://dl.doubtnut.com/l/_yQbP40SlRzpT
https://dl.doubtnut.com/l/_jgAs0WayLBFv


A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

CH3 − CH2 − CH = CH2

HBr
−−→
CCl4

16. Vladimir Markovnikov rule : Alkenes undergo electrophilic addition

reactions. It is triggered by the acid acting as a electrophile toward t-

electrons of the double bond. Markovnikov's rule states that when an

unsymmetrically substituted alkene reacts with a hydrogen halide, the

hydrogen atom adds to the carbon that has the greater number of

hydrogen, e.g., 

https://dl.doubtnut.com/l/_jgAs0WayLBFv
https://dl.doubtnut.com/l/_2zGA4aDFwOXr


 


In which of the following reactions, diastereomers will be formed ?

A. 

B. 

C. 

D. All of these

https://dl.doubtnut.com/l/_2zGA4aDFwOXr


Answer: D

Watch Video Solution

17. 

What is electrophile in first step?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 − CH2 − CH = CH2 + CH2OH
H ⊕

−−→ CH3 − CH2 − CH
∣

OCH3

− CH3

⊕

CH3

H ⊕

CH3 − CH2 −
⊕

CH − CH3

HO⊕

https://dl.doubtnut.com/l/_2zGA4aDFwOXr
https://dl.doubtnut.com/l/_FTm7TUANbdVk


18. 

What is nucleophile in first step?

A. 

B. 1-butene

C. 

D. 

Answer: B

Watch Video Solution

CH3 − CH2 − CH = CH2 + CH2OH
H ⊕

−−→ CH3 − CH2 − CH
∣

OCH3

− CH3

CH3OH

H2O

CH3 − O − CH3

19. 

What is electrophile in second step ?

CH3 − CH2 − CH = CH2 + CH2OH
H ⊕

−−→ CH3 − CH2 − CH
∣

OCH3

− CH3

https://dl.doubtnut.com/l/_yS9WHsqXCF6q
https://dl.doubtnut.com/l/_sauCetTO8Dep


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 − CH2 −
⊕

CH − CH2

H ⊕

CH3 − CH2 −
⊕

CH − CH2

CH3 − CH2 − CH2 −
⊕

CH2

20. 

What is nucleophile in second step ?

A. 

B. 

C. 

D. 

CH3 − CH2 − CH = CH2 + CH2OH
H ⊕

−−→ CH3 − CH2 − CH
∣

OCH3

− CH3

CH3 − CH2 − CH = CH2

CH3OH

H2O

CH3 − O − CH3

https://dl.doubtnut.com/l/_sauCetTO8Dep
https://dl.doubtnut.com/l/_eSjPGqpvoWaO


Answer: B

Watch Video Solution

21. 

Which step is rate determining step ?

A. attack of nucleophile 

B. attack of electrophile 

C. attack of nucleophile 

D. attack of electrophile 

Answer: B

Watch Video Solution

CH3 − CH2 − CH = CH2 + CH2OH
H ⊕

−−→ CH3 − CH2 − CH
∣

OCH3

− CH3

CH3OH

H ⊕

H2O

⊕

CH3

https://dl.doubtnut.com/l/_eSjPGqpvoWaO
https://dl.doubtnut.com/l/_qlTIRQVefrXB


22. Match the column I and II : 

Watch Video Solution

https://dl.doubtnut.com/l/_OCXDhV6QRYRi

